0 o00gd 1B-16-16-

gogn 0o 1B-16-16-
godn goooboobboodd
HEN 10.00/01

goon 0 0O :1B-16-16

goob:oggoobooo
gooo:0ogogo

0000 000000000000000000
0000 86-574-87393208 13575821383
ot

guooobobogdgad

guduobobbuogoouoobobbogooouobbbbuoooobobbboboooo

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobobobboboubboogogoobobbodooooobobbooooooboboboboaa
gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobobbbodoooobobbbodooooobooo* oo obboobbouoooad
gud” bobbboooouobobobbogoooubbbbooouobobbbouoooobobboon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guooobbbbogog bbb obobbbuooooobbuoooobobobuouoo
gobbobobboogooobbbobboooooooboobod

00000 0o0o0ooooz4e gooon 00000 1c

part ig. 0 O O (descriptionghekad tube 0.d.

e f dl d2 i1
1c-12 m12x1.5 m12x1.5 6 6 10
1c-14 m14x1.5 m14x1.5 8 8 11
1c-16 m16x1.5 m16x1.5 10 10 13
1c-18 m18x1.5 m18x1.5 12 12 14
1c-22 m22x1.5 m22x1.5 15 15 16

1c-26

m26x1.5

m26x1.5 18 18

16

39
40
42
43
46
48



1¢-30 m30x2 m30x2 22 22 20
1c-36 m36x2 m36x2 28 28 21
1c-45 m45x2 m45x2 35 35 20
1c-52 m52x2 m52x2 42 42 21

92
54
63
66

gooobooboboooooooboboobooboood® m” OO "ce-30rn"

gobobobobois-1e-160 000000 uuuobobbouodgoouoboobbouoooooobn
gobobobbooooogge-s500dmmdUddO4as#d 00 0O 30-500 MPal


http://www.tcpdf.org

